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[ 1]

(xty)(xty—5)
(FHIL 2002 4F)

[ 1]

x2+2xy+y2—5x—5y
xty=ALtEBL, (xty)(x+y—>5)
=AA—5)=A2—5A,
AZHLEITHELT,
(x+y)2—5(x+y)
=ux2+2xy+y2—5x—5y

[ 2]

(a—3b)2—ala—6b)
(REFE IR 2002 4R %)

[ 2]

9b2

(a—3b)2—a(a—6b)
=a2—6ab+9b2—a2+6ab
—9p2

[ 3]

x(x+1)—(x—4)2
(PRI 2002 HFE)

[ 3]

9x—16
x(x+1)—(x—4)2
=x2+x— (x2—8x+16)
=x2+x—x2+8x—16
=9x—16

[ 4]

(x+3)2—(2x+1)(2x—1)
(B 2002 )

[ 4]

—3x2+6x+10
(x+3)2—(2x+1)2x—1)
=x2+6x+9—(4x2—1)
=x2+6x+9—4x2+1
=—3x2+6x+10

[ 5]

9a2— (3a—2b)(3a+2b)
(IR 2002 42 A)

[ 5]

4b2
9a2—(3a—2b)(3a+2b)
=9a2— (9a2—4b2)
=9a2—9a2+4b2

—4b2

[ 6]

(a+b—2)(a—b+2)
(IR 2002 4 B)

[f6]

a2—b2+4b—4
(@+b—2)(a—b+2)
={a+(®b—2)} {a—(b—2))
=a2—(h—2)2
=aq2—(b2—4b+4)
—a2—b2+4b—4

[ 7]

3x(x+4)—(5+12x)
(KGRI 2002 4E )

[ 7]

3x2—5
3x(x+4)—(5+12x)
=3x2+12x—5—12x
=3x2—5

[ 8]

(x+3)2+ (x—4y)(x+2y)
(Fnak LB 2002 4E %)

[ 8]

2x2—Ty?2

(x+ )2+ (x—4y)(x+2y)
=x2+2xy+y2+x2—2xy—8y2
= 2x2— Ty2




[f# 9] (x—D(x+3)— (x+2)(x—2) [ 9] 2x+1
(EgR IR 2002 ) (x—1(x+3)—(x+2)(x—2)
=x2+2x—3—(x2—4)
=x2+2x—3—x2+4
=2x+1
[T 10]  Bx(x+2)+2x(x—3) [[f110] 5«2
(B 2002 £EFE)
(f11] (x—22—(@+1)(x—5) [f11] 9
(f8 5 1% 2003 ) (x—2)2— (@t 1)(x—5)
=x2—4x+4—(x2—4x—5)
=x2—4x+4—x2+4x+5
=9
[R12]  (x—2y)2+2y(2x—y) [R312]  x2+2y2
(BEFG I 2003 4EFE) (x—2y)2+2y(2x—y)
=x2—4xy+4y2+4xy—2y2?
=x2+2y2
[RI13]  (x+2)2—(x—3) (x+1) [F 18]  6x+7
(Fh 43I 2003 4F %) (x+2)2—(x—3)(x+1)
=x2+4x+4—(x2—2x—3)
=x2+4x+4—x2+2x+3
=6x+7
[ 14] (x+DE—1)—(x+2)2 [(f114] —4x—5
(FE IR 2003 ) (x+1D(x—1)—(x+2)2
=x2—1—(x2+4x+4)
=x2—1—x2—4x—4
=—4x—5
[[# 15] 2x+y)(2x—y)— (x+2y)? [ 15]  3x2—4xy—>5y2
(K3 2003 4-FE) (2xt+y)(2x—y) — (x+2y)?
=4x2—y2—x2—4xy—4y>?
=3x2—4xy— 5y?
[R16]  (x+2)2—4(x+1) [RI16] a2
(FFHESL 2003 4RJE) (x+2)2—4(x+1)
=x2+4x+4—4x—4
:x2
[f517] (x+3)(x—5)—(x—3)2 [F17]  4x—24

(kI 2004 )

x2—2x— 15— (x2—6x19)
=4x—24




(18] (x+2)2—4(x+2) (18] x2—4
(f@ 5 2004 %) x2+4x+4—4x—8
:x2—4
[Ff9 19] (x—2y)2+4xy [f5 19] x2+4y2
(BRI 2004 H2B5) x2—4xy+4y2+4xy
=x2+4y?2
[ 20] (x+2)(x—8)+ (x+3)2 [[f120]  2x2—7
(P43 2004 4FJE) x2—6x—16+x2+6x+9
=2x2—17
[f121]  @x+y)(x+3y) [f121]  2x2+7xy+3y2
(& LI 2004 )
[ 22] (3a+2b)2—(a+4b)(a+8b) [[f122]  8a2—28b2
(B 2004 F£JE A) 9a2 + 12ab + 4b2 — (a2 + 8ab +
4ab+32b2)
=8a2—28b2
[R 23] (x+2y)(x—2y) +4y2 [fH923] «2
(Frsgc LI 2004 4-) x2—4y2+4y?
=42
[f24] (x+2)x—2)—@x—4)(x+3) [[#24] «x+8
(IR 2004 £4FE) x2—4—(x2—x—12)
=x2—4—x2+x+12
=x+8
[[f25]  (3x+1)2+2x(x—3) [[f25] 11x2+1
(B 2004 4EFE) 9x2+6x+1+2x2—6x
=11x2+1
[26] (x+1)2—x(x—2) [26] 4x+1

(REAIL 2004 4JE)

x2+2x+1—x2+2x
=4x+1




[ 27] (x+1)2+(x+2)(x—3) [ 27] 2x2+x—5
(R I 2004 %)
[ 28] (2x+y) 2 —4x (x+y) (28] 2
(FEGIR 2005 4FE) (2x+y)2—4x(x+y)
=4x2+4dxy+y2—4x2—4xy
=2
[#29]  (x—2)2—(x+3)(x—3) [[#29] —4x+13
(R Z2 )11 2005 ) (x—2)2—(x+3)(x—3)
=x2—4x+4—(x2—9)
=x2—x2—4x+4+9
=—4x+13
[F45 30] 2(a—1)+ala—1) [F9 30] a2t+a—2
(& IR 2005 4E) 2(@a—1)+ala—1)
=2a—2+a?2—a
=a2+a—2
[ 31] Bx—1)(Bx+1)—(x—2)2 [131] 8x2+4x—5
(KPBF 2005 4R #£3)
[[F132]  (x+3y)2—6xy [[H132]  x2+9y2
(Frafk L% 2005 4R %) (x+3y)2—6xy
= (x2+6xy+9y2)—6xy
=52+ 9y2
[[33] (32— (xt+)x—4) [33] 6x+25
(Z IR 2005 4F1E) (x+3)2—(x+4)(x—4)
=@x2+6x+9)— (x2—16)
=6x+25
[f134] (x+2)(x—2)—x (x—3) [34] 3x—4
(Bl 2005 4EFE) (x+2)(x—2) —x(x—3)
=x2—4—x2+3x
=3x—4
[ 35] 2x—1)(x+3) [[H35]  2x2+5x—3
(PRI 2005 4-FE) (2x—1)(x+3)
=2x2+6x—x—3

=2x2+5x—3




[F4 36] 4(x2+2x—1)+3(x2—x—2) [F4 36] 7x2+5x—10
(PRI 2005 4EFE) 4(x2+2x—1)+3(x2—x—2)
=4x2+8x—4+3x2—3x—6
=Tx2+5x—10
(14 37] (2x— 3y)®—2x (x—6y) [[#137]  2x%4+9,?
(BRI 2006 4E )
(#38]  (x+1)(x—2)—(x—1) [138] «x—3
(FhZ=)11IL 2006 4FFE) @+t D)E—2)—(@—1)
=xl—x—2—(*—2x+1)
=x*—x—2—x*+2x—1
=x—3
(R 39] (24 a®b—8ab)+~6ab—4 a (11 39] _4
(ZH1I 2006 £ B) 3
(#1401  (x+2)2—(x+3) (x—1) [f140] 2x+7
(Fnak LIk 2006 ) (x+2)%—(x+3)(x—1)
=x*+4x+4—(x*+2x—3)
=x*+4x+4—x>—2x+3
=2x+7
[FT41]  (x+3) (x+6)—(x—4) [Ri41] 17x+2
(B hE I 2006 4EJE)
(H42]  (x+3)2—x(x—4) [fT42]  10x+9
(R0 2006 4EJE)
([#143] &+ (a+b)(b—a) (f743] p2
(REA I 2006 4FJE) a*+(a+b)(b—a)
=a’+(b+a)(b—a)
=a?+ b2 —a?=0b?
[fT44] (x+4)(2x—1) [[44] 22+ 7x—4

(FPHRIR 2006 4EFE)




[ 45]  (Bx—4) (x+2) [fH45]  g424+9x—8

CaFI 2007 4EJE) (Bx—4)(x+2)
=3xXx+3xX2—4Xx—4X2
=3x>+6x—4x—8=3x>+2x—8

(F146]  (2x—y)2+(cty) (Bx—y) (Fi46] ox
(BEB I 2007 4-%) ©2x—y)?+(x+y)(5x—y)
= 4x2 — 4xy + y* + 5x® — xy + bxy
—y?
=9x”

[([#47]  (x+1)%—x (x—6) [f47] 8x+1
(RpZ)IIR 2007 4EF)

[[748]  (6a2b—18ab+12ab?) = 3ab+2(3—2b) [ 48]  2a

(506, 2007 4R B) (6a*b—18ab+12ab?)
= 3ab+2(3—2b)
—2q—6+4b+6—4b

=2a
(14 49] (x—3y)*+6xy [f149]  x*+9y?
(ZRIE 2007 1)
[ 50] (a—l—b)2—3a(a—b) [ 50] —92a*+5ab+ b>
(Fns il R 2007 4 ) (@+b)’—3a(a—b)
=a’+2ab+b*—3a*+3ab
=—2a’+5ab+b?
[ 51] (2a+5) (3a—2) [(f51]  6a%+11a—10
(BHEUR 2007 4£5E)
[(M52] (x+1) @—4)—@—7)? [f152] 11x—53
(B hRIR 2007 4EJE)
(F153]  x(x+2)+(x—3)> (53]  2x®—4x+9
(il 2007 £RE) X+ 2)+ (x—3)?

=x"+2x+x"—6x+9
=2x"—4x+9




[ 54]  (3a?+4x+1)+(*—5x+3) [(f54] 4 x+4

(FhHBIR 2007 4R %)

[F455] (x+y)2—2y (x—y) [ 55] x>+ 3y?

(BERS IR 2008 1) (x+y)2—2y (x—y)
=x2+2xy +y*—2xy+ 2y*
=x2+3y”

[[#56]  (x—3)2—(x—2) (x+3) [f56] —7x+15
(FRZS)I1 I 2008 4EFE)
[([57]  3(2+2x—4)—2(8x—5) [(f157]  38x2—2

(ILUALE 2008 ) 3(x*+2x—4)—2(3x—5)
=3x*+6x—12—6x+10
=3x*—2

(58]  (1—a) 1+a)+2a? [#58] o2+1
(Fnak LR 2008 1)
[#159]  (x—2) (x—5)+(x+3) (x—3) [759] ox®— 7xt1

(ZEIR 2008 4EJ%)

(1% 60] (x+3) (x—2)—x (x—4) [ 60] 5x—6

(I 2008 4E )

[RI61]  (x+6) (x—3)—9(x—2) [Ri61] x2—6x

(REABL 2008 ) (x+6)(x—3)—9(x—2)
=x’+3x—18—9x+18
=x"—6x

[(162]  (x+5)2—(x—1) (x+3) [f62]  8x+28

(18 5L 2009 4£%)




(M 63]  (2x+y)2—(©2x—y)? [fi63]  8xy
(BERS IR 2009 4R ) (2x+y)*—(2x—y)”
={@x+y)+@x—y) {2xty)—(2x
—)}
=4x X 2y=8xy
[ 64] (x—1) (x+5)+(x—2) (f164]  2x*—1
(FpZ=)11 2009 42)
[[#65]  (x—6y) (x+6y)+y? [f165]  x2—35y2
(ZRR UL 2009 42%)
[[H166]  (x—7y)2—(x+7y) x—Ty) (f166]  —14xy+98y°
(Fnak L B 2009 4R )
[f167]  (x+4) x—4)+(x+3) (x+2) (1671  2x’+5x—10
(FhRIL 2009 4%)
[[H168]  (x+2) (x+3)—@*—1) [fT68] b5x+7
(F& iR 2009 1)
[[H169]  (a+b)>—a(at2b) [(f69] p2
(REARIL 2009 #-%) (a+b)>—ala+2b)
=a’+2ab+b*—a’—2ab
=}
(R 70] (x—3)%+(x+2)(x—4) ([ 70]  2x*—8x+1
(f8 5% 2010 42%)
(711 (2x+y) @x—5y)—4(x—y)? (F71]  —9y?

(FEFB IR 2010 4E)

(2x+y)(2x—5y) —4(x—y)*
=4x”—8xy—5y*—4(x*—2xy+y?)
=4x>— 8xy—5y?— 4x>+ 8xy — 4y*

= _9y2




([ 72]  (x4+2)2—(x+3) (x—4) [(f72] 5x+16
(P31 R 2010 A2J%) (x+2)%—(x+3)(x—4)
=x’+4x+4—(*—x—12)
=x’+4x+4—x>+x+12
=bx+16
[ 73] (x+y) (x*3y)*(x*y)2 [ 73] —4y2
(%R 2010 4% B)
[ 74]  (x+5)(x—5)+2« [ 74]  x24+2x—25
(BEER 2010 4E%) (x+5)(x—5)+2x
=x2—25+2x
=x*+2x—25
(78] (x+2y)2—(x+y) (x—) (F175]  4xy+5y>
(RLEBRF 2010 4EJE)
(M 76]  (2x—3y)(2x+3y)—(8x—2y)? [(f76]  —5a%+12xy— 132
(RBRFF 2010 4R 1% H1)
[ 77]) (x—y)2—|—5xy (R 77] x2+3xy+y2
(ZZE I 2010 4E%)
[fH78] (x—1)(x+9) —x(x+6) (78] 2x—9
(Pl I 2010 &)
(1791 (x+3)2—(x—4) (x—5) [M79] 15x—11
(EhE IR 2010 4£) (x+3) —(x—4) (x—5)
=x2+6x+9— (x> —9x+20)
=x*+6x+9—x*+9x—20
=15x—11
[#80]  (x+1)2+(x—2) (x+2) (F180]  2x®+2x—3

(B 2010 4B ATy




[ 81] (x+1) (x—1)—x(x—2) [ 81] 2x—1
(BNl 2010 4 #%3) (x+1(x—1)—x (x—2)
=x’—1—x>+2«x
=2x—1
[F9 82] (8x+2)%+ 2x(x—6) [F4 82] 11x2+4
(Bl 2010 £ %581 (8x+2)%+2x(x—6)
=0x®+12x+4+2x*—12x
=11x*+4
[ 83]  (2x+5) (2x—5)+4x(1—x) [ 83] 4x—25
(REAIEL 2010 %) (2x+5) (2x—5)+4x(1—x)
=452 — 25+ 4x— 4x?
=4x—25
([H84]  (x—4)2—2(x+3)(x—3) (i 84]  —x?—8x+34
(f8 &R 2011 4£%)
(#1851 (x4 3y)(x—y)—(x+y)? (f185]  —4y?
(BEFE IR 2011 4£J%)
[f186]  (x+4) x—2)—(x—3)? [I86] 8x—17
(BRI 2011 42 %)
[87]  (x+3) (x+5)—x(x+9) [87] —x+15
(BEE IR 2011 4£)
[[88]  (x—2y)%+5xy [ 88]  x?+uy+4y?
(BRIE 2011 4£%)
(#1891  (a+2b)>—(a—2b)? [89] 8ab

(CFragk LB 2011 425F)

(a+2b)*—(a—2b)*
=qa’+4ab+4b*— (o> —4ab+4b?
=a’+4ab+4b*—a®+4ab—4b*
=8ab




[90]  (x+5)(x—5)—(x+1)(x—86) [[f190] 5x—19
(EHEIR 2011 4E)%)
[(f91]  (x+22—(x—1)(x—3) [fI91] 8x+1
(%I 2011 4R Aif)
(M92]  (x+1)2+x(x—2) [(f92]  2x2+1
(%R 2011 4R #£4)
(193]  (x+2y)—(x—2y)? (193]  8xy
(Bl 2011 45 %)
(#1941  (Ba—b)*+(a+b)(Ta—b) [94]  164°
(REAIR 2011 4E%)
[f195]  2(a®+2a—1)+2a>—a—5 ZEHE LS, [ 95]  4a?+3a—7
(db¥giE 2012 4EJ)
[(196]  (@x+1)2+3x—1D(x+1) FFHELARI, [(F196]  7x®+4x—2
(f& B 2012 4E )
[(M97]  (x+22—(x—1)(x+86) [f97] —x+10
(FBZS)11 IR 2012 4EFE) (x+2)°—(x—1)(x+6)
=x’+4x+4—(x*+5x—6)
=x’+4x+4—x*—5x+6
=—x+10
(98]  2x(3x—1)— (6x>+5x—9) (98] —7x+9

(JUALIE 2012 4 FE)

2x(3x—1)— (6x%+5x—9)
=6x?—2x—6x>—5x+9
=—Tx+9




[F5 99] (x—|—4)2—(x+ 7 [ 99] +Tx+9
(BeE I 2012 4R %)

[[H100]  (Bx+y)(Bx—4y)—(x+2y)(x—2y) ZEFHELZSVy, | [ 100] 8x%—9xy
(RBRHF 2012 4ERE 14 1)

[fT101]  (x—3y)>+8xy [ 101] 224 2xy+9)?

(ZZBR I 2012 4FFE)

[ 102] (a—3b)(a+3b)—a(a—3b) [[9102] 3qb— 92
(Fnagk LR 2012 42 %)

[(f1103]  (x—2)(x+4)+(x—3)? [ 103]  2x?—4x+1
=2+ 2x—8+x>—6x+9
=92 —4x+1

[(1104]  (@x+1)°—(x+2)(x—3) [ 104] 32+ 5x+7

(B ZnlE 2012 4R B
[ 105] 67.52—32.52 [F5105] 3500
(BNl 2012 4EFE FiH) 67.52—32.52
=(67.5+32.5)(67.5—32.5)
=100X% 35
=3500
[Fﬂlﬁ 106] (x+2)2f4x [FIHEJ 106] x2+4
(BHIE 2012 4B 14H)
[[5107]  (2x+3y)(2x—5y) [[107] 40— 4xy—15y2

(IR 2012 FREE 14 41)




(1 108]  (2x+y)(2x—y)+ 2y (1 108] 44742

(FKHEIE 2013 4)F) (2x+y)(2x_y)+2y2
=4x>—y*+2y*
=4x2+y?

[ 109]  (x—3)(x+5)—(x—2)? [109] 6x—19
(P AR 2013 4E%) (x—3) (x+5)—(x—2)2

=x24+2x—15—(x*—4 x+4)
=x*+2x—15—x*+4x—4

=6x—19
[ 110] (x—7)(x—4)+8« [fH110] x2—3x+28
(SR 2013 4£F) (x—T7)(x—4)+8x
=x>—11x+28-+8x
=x>—3x+28
[ 111] x—Dx+2)—x(x—4) [ 111] 5x—2
(CFoak LB 2013 A25E) (x—1)(x+2)—x(x—4)
=x>+x—2—x%+4x
=bx—2
[ 112] e+ 3)(x—3)— (x—2)* [ 112] 4x—13
(BAEE 2013 ) (x+3)(x—3)—(x—2)

:x2—9—(x2—4x+4)
=x2—9—x?+4x—4
=4x—13

[ 113]) x(x—5)—(x—3)2 [ 118] x—9

(B 2013 4EFE AiTHA) x(x—5)—(x—3)?
=x2—bx—(x*—6x+9)
=x2—b5x—x>+6x—9

=x—9
[M114] (a+8)(a—8) —ala—8) [[H114] 8a—64
(B 2013 4R 1%H) (a+8)(a—8)—al(a—8)
=a’—64—a’+8a
=8a—64
[ 115]  (3x—4)(3x—5)—(3x—5)? [f115] 3x—5
(B 2013 4EE #4401) (3x—4)(3x—5)— (3x—5)*

=9x%—27x+ 20— (9x%>— 30x+ 25)

=9x2—27x+20—9x>+ 30x— 25
=3x—5

[[116]  (x+5)*—(x+3)(x—3) [ 116] 10x+34

(FEAIR 2013 4-J%) (x+5)>%—(x+3)(x—3)
=x*+10x+25—(x*—9)
=10x+34




[ 117]

(2a—0b)*+a(a+4b)
(FhHRIR 2018 4-FE)

[ 117]

5a®+ b?
(2a—0b)*>+a(a+4b)
=4a*—4ab+b*+a*+4ab
=5a%+b?

[ 118]

2x—1)(x+3)
(REF IR 2014 4JE)

[ 118]

2x*+5x—3
2x—1)(x+3)
=2+ 6x—x—3
=2x%+5x—3

[[H 119]

(x—1)>—(x+2)(x—8)
(R 2014 )

[ 119]

4x+17

(x—1)%—(x+2) (x—8)
=x2—2x+1—(*—6 x—16)
=x*—2x+1—x>+6 x+16
=4x+17

[ 120]

(x+2)(x—5)—6x
(BB 2014 4EF%)

[ 120]

x*—9x—10
(x+2) (x—5)—6x
=x>—3x—10—6x
=x*—9x—10

[ 121)

(x+y)(x—3y)—9xy
(BRIE 2014 %)

[ 121)

22— 11xy— 3y?
(xt+y)(x—3y)—9xy
=x?—2xy—3y>—9xy
=x2—11xy—3y?

4 122]

x(x+2)—(x+4)(x—3)
(FnaEk L 2014 4R)

[ 122]

x+12
x(x+2)—(x+4)(x—3)
=x2+2x— (2 +x—12)
=x2 42—’ —x+12
=x+12

[ 123]

(x+5)(x—2)+ (x+4)(x—4)
(EhR I 2014 42F)

[ 123])

2x%+3x—26
(x+5)(x—2)+ (x+4)(x—4)
=x>+3x—10+x>—16
=2x"+3x—26

[ 124])

(x+4)2+(x—1)(x—7)
(B 2014 £ Bif)

[ 124])

2x% 423
(x+4)*+(@x—1)(x—"17)
=x?+8x+16+x*—8x+7
=2x>+23

[ 125]

3x—9x>+ 11x%— 2x
(EHIE 2014 4R 14H))

[ 125]

2x> +x
3x—9x%+11x%>—2x
=—9x"+11x*+3x—2x
=2x%+x




[ 126]

(2x+3)2—(2x—1)?
(B 2014 4R %H1)

[ 126]

16x+8
(2x+3)2—(2x—1)*
=4x*+12x+9— (4x®*—4x+1)
=4x*+12x+9—4x>+4x—1
=16x+8

[ 127]

x(x+2)—(x—1)2
(RBASIL 2014 )

[ 127]

4x—1
x(x+2)—(x—1)2

=x24 20— (> —2x+1)
=x>+2x—x>+2x—1
=4x—1

[ 128]

66%—342
(RS 2014 42F)

[ 128]

3200
662 —342
=(66+34)(66—34)
=100 X 32

=3200

[ 129]

(x+2)(x+3)— (x+4)?
(#2015 4R %)

[[4 129]

—3x—10

(x+2) (x+3)—(x+4)*
=x?+5x+6—(x*+8 x+16)
=x’+5x+6—x*—8x—16
=—3x—10

[ 130]

(x—3)(x+3)—(x—3)*—6x
(Bl 2015 42 B)

[R5 130]

—18
(x—3)(x+3)—(x—3)*—6x
=x?—9—(x®*—6x+9)—6x
=x2—9—x*+6x—9—6x
=—18

[ 131]

(x—3y)(3x+2y)
(KRBT 2015 4R 74 30)

[ 131]

3x%— Txy— 6y°
(x—3y)(3x+2y)
=3x>+ 2xy— 9xy — 6y°
=3x>—Txy— 6y

[ 132]

(x+1)>—(x—3)(x+2)
(ZZRIE 2015 4E)

[ 132])

3x+17
(x+1)*—(x—3)(x+2)
=x2+2x+1— (> —x—6)
=x*+2x+1-x"+x+6
=3x+7

[ 133]

(2x+y)2*(x+ 2y)2
(FoaEk LR 2015 4R)

[R5 133]

3x2—3 y?

(2x+y)*—(x+2y)°

=4’ + dxy +y* — (2 +4xy + 4y?)
=4x>+ 4y +y*— x> — 4y —4y®
=3x”—3y”

[ 134]

(x+3)2 +@x—1)(x—4)
(B 2015 4E)

[ 134]

2x%+x+13

(x+3)%+ (x—1)(x—4)
=x?+6x+9+x>—bHx+4
=2x*+x+13




[ 135]

(x+3)(x—3)—(x—4)?
(Bl 2015 4R A)

[ 135]

8x—25
(x+3)(x—3)— (x—4)*
=x?—9—(x*—8x+16)
=x?—9—x*+8x—16
=8x—25

[ 136]

x—2)(x+4)+tx(x—2)
(REAIL 2015 42J%)

[ 136]

2¢%2—8
(x—2)(x+4)+x(x—2)
=x?+2x—8+x>—2x
=2x>—8

[ 137]

(2x%—5x) — (3x>—2x)
(AR 2016 42%)

[ 137]

—x*—3x

(2x%—5x) — (3x>—2x)
=2x%—3x>—bHx+2x
=—x2—3x

[F4 138]

(x+3)%—(x+2)(x—4)
(R 2016 HJE)

[ 138]

8x+17
(x+3)>—(x+2)(x—4)
=x?+6x+9—(x*—2x—8)
=8x+17

[ 139]

(2x+3)2—4(x+1)(x—1)
(BIR 2016 £ A)

[ 139]

12x+13
(2x+3)2—4(x+1)(x—1)
=4x®+12x+9—4x>+4
=12x+13

[[4 140]

312—292
(FUER I 2016 4E2 RiTH)

[ 140]

120

312—29?
=(31+29)(31—29)
=602

=120

[ 141)

2x—T)(2x+7)+ (x+4)*

(LI 2016 A2 i)

[ 141)

5x°+8x—33
2x—T)(2x+7)+ (x+4)*
=4x>—49+x*+8x+16
=5x>+8x—33

[ 142]

(4x+y)(dx—y) — (x—5y)
(KRBT 2016 4 B)

[R5 142]

15x%+ 10xy — 26y
(4x+y)(dx—y) — (x—5y)
=(4x)?—y*— (x> — 10xy+ 25y
=16x%—y*— x>+ 10xy —25y>
=15x%+ 10xy — 26y>

[ 143]

(x+y)(x—3y)+2xy
(ZZRRI 2016 4FE)

[F4 143]

x2—3y?
(x+y)(x—3y)+2xy
=x?—2xy—3y*+2xy
— 32— 3y?




[ 144]

(a+2)2%+(@—1)(a—3)
Rkl B 2016 42FE)

[ 144]

2a%+17
(@a+2)*+(@—1)(a—3)
=a’+4at+4+a®>—4a+3
=92a>+7

[ 145]

2x+1)Cx— 1)+ (x+2)(x—3)
(BRI 2016 42%)

[ 145]

bxl—x—17

Cx+1)2x— 1)+ (x+2)(x—3)
=45’ —1+x*>—x—6
=bx?—x—17

[ 146]

(x+3)>—x(x—9)
(%R 2016 4R )

[ 146]

15x+9
(x+3)2—x(x—9)
=x®+6x+9—x>+9x
=156x+9

[ 147]

(x—4)?+x(8—x)
(REARIL 2016 )

[ 147)

16

(x—4)*+x(8—x)
=x*—8x+16+8x—x*
=16

[F4 148]

a*—5a—1+3(a*+2a—4)
(AbMgE 2017 FE)

[ 148]

4a°+a—13
a*—5a—1+3(a*+2a—4)
=a’—5a—1+3a>+6a—12
=4a®*+a—13

[[¥ 149]

(x+5)2—(x+5)(x—3)
(T4 2017 &45)

[ 149]

8x+40

(x+5)2—(x+5)(x—3)
=x*+10x+25— (x*+2x—15)
=x*+10x+25—x*—2x+15
=8x1+40

[ 150]

(x+5)(x+9)— (x+6)2
(FRZ)I R 2017 A-FE)

[ 150]

2x+9

(x+5)(x+9)— (x+6)>
=x?+14x+45— (x*+12x+ 36)
=2x+9

[ 151]

2x+3)(x—1)—x(x+5)
(KB 2017 4R B)

[RF 151)

x?—4x—3
2x+3)(x—1)—x (x+5)
=2x>—2x+3x—3—x>—b5x
=x?—4x—3

[ 152]

(x+3)2—2(x+3)
(ZXRIR 2017 #%)

[ 152]

x2+4x+3
(x+3)2—2(x+3)
=x*+6x+9—2x—6
=x>+4x+3




[ 153]  (2a+1)*—(a+3)(a—3) (%1 153]  8a2+4a+10
(Foak L B 2017 AR (2a+1)*—(a+3)(a—3)
=(4a’*+4a+1)—(@*—9)
=4a’>+4a+1—a*>+9
=3a’+4a+10
([ 154]  (x—4)>—(x+2)(x+3) [ 154] —13x+10
(R 2017 4£%) (x—4)% — (x+2)(x+3)
=x?—8x+ 16— (x*+5x+6)
=x>—8x+16—x*—5x—6
=—13x+10
[ 155]  9x2—(3x—1)? ([ 155] 6x—1
(REAIR 2017 4£) 9x>—(8x—1)2
=9x*— (x> —6x+1)
=6x—1
[f156]  (x—1)2—(x+2)(x—6) ([ 156] 2x+13
(HFH/RIE 2018 4%) (x—1)2—(x+2)(x—6)
=x2—2x+1—(x2—4x—12)
=x2—2x+1—x2+4x+12
=2x+13
[f1157]  (x+9)2—(x—3)x—7) (f1157] 28x+60
(231112 2018 A=) (x+9)*—(x—3)(x—"17)
=x%+18x+81—(x*—10x+21)
=x?+18x+81—x*+10x—21
=28x+60
[ 158] (2x—3)(x+2)—(x—2)(x+3) [ 158] 42
(ZHnR 2018 4E£ A) (2x—3)(x+2)— (x—2)(x+3)
=2x*+4x—3x—6—(x*+x—6)
=2x°+4x—3x—6—x>—x+6
:xz
[ 159]  (2x—1)>— (x+3)(x—6) [[159] 3x—x+19
(LRI 2018 4R mij) (2x—1)2—(x+3)(x—6)
=4x2—4x+1—(x2—3x—18)
=dx2—4x+1—x2+3x+18
=3x2—x+19
[[5160] (x+4)(x+5)—(x+3)(x—3) [ 160] 9x+29
(SRR 2018 4EJ¥%) (x+4)(x+5)— (x+3)(x—3)
=x2+9x+20—(x*—9)
=x"+9x+20—x"+9
=9x+29
[[5161]  x(x+2y)—(x+3y)(x—3y) [F1161]  2xy+9y?

(Fnk L 2018 %)

x(x+2y)— (x+3y)(x—3y)
=x2+2xy— (x2—9y2)
=ux2+2xy—x2+9y2
=2xy+ 9y?




[[4 162]

(2x+5)(x—3)
(ML 2018 4 #551)

[ 162]

2¢2—x—15
2x+5)(x—3)
=2x*—6x+5x—15
=2x>—x—15

[[4 163]

(x—6)(x+2)—(x+3)(x—3)
(BRI 2018 4R

[4 163]

—4x—3
(x—06)(x+2)—(x+3)(x—3)
=x2—4x—12—(x2—9)
=x2—4x—12—x2+9
=—4x—3

[ 164])

(xt+4)(x—4)—(x+2)(x—8)
(REAIR 2018 4EJE)

[ 164]

6x

(xt+4)(x—4)— (x+2)(x—8)
=x*—16—(x*—6x—16)
=x*—16—x*+6x+16
=6x

[ 165]

(2x+5)(x—1) ZEMTDIE,

TH D,
(FPHRIR 2018 4 )

[ 165]

2x%+3x—5
2x+5)(x—1)
=2x2—2x+5x—5
=2x2+3x—5

[[4 166]

x—2)*— (x—1)(x+4)
HRRIE 2019 )

[ 166]

—7x+8
(X—2)2—(x—1)(x+4)
=x2—4x+4—(x2+3x—4)
=xX2—4x+4—x2—3x+4
=—7x+8

[[4 167]

(x+3)(2x—1)
(REFE IR 2019 4EBE AT

[ 167]

2x2+5x—3
(x+3)(2x—1)
=2X2—X+6x—3
=2x2+5x—3

[ 168]

(x+4)2— (x—5)(x—4)
(B2 2019 4EE)

[ 168]

17x—4

(x+4)%— (x—5)(x—4)
=x2+48x+ 16— (x*—9x+20)
=x24+8x+16—x2+9x—20
=17x—4

[ 169]

X(3x—2)+2x
(AL 2019 4R )

[ 169]

3x2
X(3x—2)+2x
=3x2—2X+2xX
=3x2

[ 170]

4(2a+b)—2(a—3h)
(I BL UL 2019 4E )

[ 170]

6a+ 10b
4(2a+b)—2(a—3b)
=8a+4b—2a+6b
=8a—2at+4b+6b
=6a+10b




(F1171]  (x+2)2—(x+2)(x—2) [f1171] 4x+8
(ZZRIR 2019 4EJE) (x+2)2—(x+2)(x—2)
=x2+4x+4—(x2—4)
=X2+4x+4—x2+4
=4x+8
[(f172]  @+2)@a—1)—(@—2) (f172] 5a—6
(Fnafk LR 2019 4£5) @+2)@a—1)—(@—2)?
=a2ta—2—(a2—4at+4)
=5a—6
[[9173] (3x—1)(4x+3) [ 173] 12x%>+5x—3
(B 2019 4FEE) (3x— 1)(4x+3)
=12x2+9x—4x—3
=12x2+5x—3
(f1174]  (x+4)2+ (x+5)(x—5) [f1174] 2x24+8x—9
(BRI 2019 4F) (x+4)*+ (x+5)(x—5)
=x?+8x+16+x>—25
=2x?+8x—9
(M175]  (Bx—1)2+6x(1—X) [f175] 3x2+1
(REAIR 2019 4R ) (3x—1)%+6x(1—X)
=9x?—6x+ 1+ 6x—6X?
=3x>+1
[[176] (—2a+3)(2a+3)+9 [f1176] —4a%+18
(FARIL 2020 4£J%)
[R5177] 3(x+6y)—2(x+8y) [R177] x+2y
(ILUALI 2020 4EFE) 3(x+6y)—2(x+8y)
=3x+ 18y—2x— 16y
=x+2y
[ 178] (2x+1)(Bx—1)—(2x—1)(3x+1) [ 178] 2x
(I B 2020 4E )
[f179]  (x+2)>—x(x—3) (f1179] 7x+4

CRBRAF B 2020 4FJ%)




[ 180] (x+y)>—5xy (11801 x2—3xy+y?
(ZSRIF 2020 4E%)

(1811  (x+1)2+(x—4)(x+2) (181] 2x2—7

(R LB 2020 4-)

[ 182]  (x—4)x—3)—(x+2)° [f182] —11x+8
(EIRIR 2020 4E%)

[R9183] (3x+7)(8x—7)—9x(x—1) [R183] 9x—49
(REAIR. 2020 4£J%)

[ 184] 3(@2x+y)—2(x—Y) [f4 184] 4x+5y
(FHHBIR 2020 4E%)

[ 185]  (x—3y)(x+4y)—xy [f185] x2—12y?
(BKHIR 2021 4EJ%)

[ 186] 3(2a—3)—4(a—2) [F186] 2a—1
(&L 2021 4E)

[[}1187] 6x+7y—2(x+3y—9) [%1187] 4x+y+18
(ILALIR 2021 4E %)

(1881 (2x+1)2—(2x—1)(2x+3) [R7188] 4

(B A 2021 )




[ 189]

(a+5)(a—3)—(a+4)a—4)
CRERIT 2021 4EFE  RiTH)

[ 189]

2a+1

[ 190]

X(X+7)—(x+4)(x—4)
(KRBRIF B 2021 4E)

[ 190]

7X+16

[ 191])

X+7)(x—4)—(x—4)?
(R 2021 4B)

[ 191)

11x—44
x—4=A B &
X+7)(x—4)— (x—4)?
=(x+7)A+A?
=A(x+7—A)
AZHLICET
Ax+7—A)
=X—4)x+7—(x—4)}
=X—4)x+7—x+4)
=x—4)X11
=11x—44

[ 192]

(X—2)(x+2)+(x—1)(x+4)
(FRak LR 2021 4FE)

[ 192]

2x%>+3x—8

[ 193]

(x—3)*— (x+4)(x—4)
(BfR IR 2021 4EE)

[ 193]

—6x+25
(x—3)%— (x+4)(x—4)
=x?—6x+9—(x2—16)
=x*—6x+9—x*+16
= —6Xx+25

[ 194]

(2x+ 1)+ (5x+1)(x—1)
(REARIR 2021 4RJ)

[ 194]

ox?

(2x+1)2+ (5x+1) (x—1)

= (2X)24+2X2xX 1+ 12+ 5x X x+
5xX (—1)+1Xx+1X(—1)
=4x%+4x+1+5x°—5x+x—1
=9x?




